HEXAE
= B4 |mm -
|Angle 4 574 Remain 265426

llinz 0.3231
llin: 0.3327

o
ENABLE

15 < H T PRI
LA Bl e Jh PR BNIERE i, Wy (P2 E e B e R o 2
E [ ,ﬂF-f '_f.LIIE JE[ 'RE\EI‘E@E

%![_' E.IIE” %F'j FIJ H jf/v I&(E‘Eﬁ*jﬁ’?&}'ﬁgﬁ1alﬁ %’!Vﬂg‘\ E#‘/[E“E‘EE

3. ENHRSE - EN F’i,” THIFE S RS EEEERE A H AAsR
=

4. B[ 7 [ ’?Ef ?F'HEJ[E"”I//A%mf} =55 HIIREE = %!TV'H S Uing 4071

5.87% SE 5 F PR ENH] 6.5HEE | [T R [rVWHﬁ?JFFEI*E'EE?ﬁE

e e SUPCBE O RN LR
p2=4

9.4 A7k [ ﬁ%ﬂ SRR 0 Fl %7 GO/NO-GO F551H ]
10. ﬁ;}%ﬁ 51/['%\ Y] 11.Hy&f F ﬁl}%ﬁ?q' WORD, EXCEL , JPG
155 64OX480 it EIE"}‘EE fEr 1024X768 & [aZV +=
*e*jf e KW- 8013 CCDE# By







